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Instructions to the Carididat W

1) Answer Q.1or 7Q.30r Q4,Q50r Q.6,Q.70r Q.8.

2) Neat.diagfamsmust be drawn wherever necessary. %)
3) Figlred to thetight indicate full marks A7
/
4) Useof onic pocket calculator is allowed. \C)
5) Assunﬁ;suitable data, if necessary. é'(}
W &

¥ .
Q1) a voflg 1 (a) and (b) showsplan and @ of r.g‘raential building, Determine
the quantities of following itenb:) \,b‘ [8]

$o)
)  Excavationinfoundati NG (\9(\/
i)  UCR masonryin(ﬁ \foundation

iy Damp proof c@ QO) Ogb

—— Fig 1 (a)

PT.O.



b)

Q2) g

b)

Determine quantity to steel reinforcemment in slab for both room fromfig
no 2in 8 mm ¢ bar provided @ 120mm c/c along short and long span
with alternate bar bent up at:support. Determine the quantity of

reinforcement. [9]

/_ Bent yp Bar 8 mm & Distribution bar 8 mm &
@ 120\bAin cc _/ @120 mm cc
v 4

[\ I)ﬂr £ Room 2 -

6x3m

Rgbm 1 ey v el
¥Fx 6
] o l—Bemupbarammc'
@120 mm cc
(3

L Distribution bar 8 mm
@120 mm cc

Figno 2
OR
Explanin detail concept of long wall short wall“and Centre line method
with the help of example. [8]

The plan and elevation for the gaitimn footing for an R.C.C. framed
structure is shown in Fig.3 (a) and (b). work out the quantities for the
following item of works. [9]

i)  Earth 1 work excavatién forfoundation
i) C.C.(1:2:4) for column feeting.

- RCC.beam
A .
}RNC.C.WWG
P
-1
aL. .
_ RN 1. dqjesm
15m | B3m-1 0.45m
3
4 1 08m
8.10m
1.5m
Plan
Fig 3 (a) fig 3(b)
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Q3) 8

b)

Q4) &)

b)

Calculate for an embankment by meairareamethod, workout the quantities
of earthwork for an embankment 100 m long and 10 mwide at atop. Side
dopeis2:1 and depth of each 26:m and are 0.6, 1.2, 1.4, 1.6, 1.5m. [8]

Prepare an estimate of a pipe culvert for following item as shown in

Fig. 4 (@) and Figr4(b) [9]
)  Excavation

i)  Earthfilling

i)  Rubblesoling

Iv) PCC. (1.4:8) for foundation and below pipes

Rubble soling
{c0.3m}

GL.
AN

0.9 m dim. (hump pipe)

R RS R RO HR Tt
1.5m)
) f *— Stone masonry PC.C.{1:4:8)

SRERMR %0.21'“ et U e
1t
Fig 4(2)
02m /PLC(1:4:8) /:;3,:,';:;;; .
\ - )

33m

0.2m g

Fig 4(b)

OR

Calculate the quantities of earthwork for 200 nidengthrfer a portion of
road in an uniform ground, the height of bariks-at twia,ends being 1.0m
and 1.60m. Theformationwidthis10 mand sitleslgpe2:1 (H:V). Assume
that there is no transverse slope. [9]

Explain different methods to workout guantity of earthwork for
Road,canal, Railway embankment, dam. [8]
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Q3) 8

b)

Q6) &)

b)

Q7) 8
b)

Q8) a)

b)

Briefly explain [9]
1)  Genera or brief specification

i)  Detailed specification

Using the standard format;,conduct the rate analysis for the following

item of work. Brickivork’in a cement mortar 1:6. (take brick size as
19cmx9cmx9emy) [9]

OR
Conducttherat€analysisfor the following item of work. [9]
Cement’concrete 1:2:4 for RCC Roof slab
Write.a detaited specification for BBM in CM 1.6 for superstructure.[9]

Definevaluation. Explain any one method of depreciation. [6]

A.bnilding isconstructed at acost of 5 lakhs. Thelife of building may be
assumed to be 80 years and the scrap value-of building to be 10% of
building cost. Determine the deprétiation.in 40" year. Use straight line
method, constant percentage method aind‘sinking fund method assuming
8% compound interest. [6]
Differentiate between pricg;.cost-and val ue. [6]
eR

Explain the concept.of freehold and lease hold property. What are the
reasons under which theproperty isleased and what are the liabilitiesief
|easer and |ease? (6]
Explainwith exampl&: [6]
)  Obsolesce

i)  Years Purchase

i) EarnedValue
What isDepreciation? List different methodsaf cal culating depreciation
explainanyone. [6]
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